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Hs T F T 3 @9 T F H] 31
H EEATA7 A0 EAL
H-1 AX#
H-1-1 | 345A03 8
H-1-1-1 | &8A93% 30 mm m 1
H-1-1-2 | 3852934 40 mm m 1
H-1-1-3 | &8A93 % 50 mm m 1
H-1-1-4 | 335A9%3 % 65 mm m 1
H-1-1-5 | $45A34FH 80 mm m 1
H-1-1-6 | 45233 100 mm m 1
H-1-1-7 | 3852934 125 mm m 1
H-1-1-8 | 8293+ 150 mm m 1
H-1-1-9 | §4+A3 & 175 mm m 1
H-1-1-a | $5A 333 200 mn m 1
H-1-2 | 4FA58
H-1-2-1 A A 50 mm m 1
H-1-2-2 | §4+-x4# 65 mm m 1
H-1-2-3 | §4+A4% 80 mm m 1
H-1-2-4 | 5243 100 mm m 1
H-1-2-5 A A 125 mm m 1
H-1-2-6 | 524 150 mm m 1
H-1-2-7 | 34524 # 175 mm m 1
H-1-2-8 | 4+A4% 200 mm m 1
H-2 EZX
H-2-1 EIYEERT
H2-1-1 | 23YEEZZ 70x75 mm(5,250 mir)©] 3} m 1
H-2-1-2 FAYEERX 12075 mm(9,000 mm) )3} m 1
H-2-1-3 | £3gEERE 150<90 mn(13500 mm)©] 3} m 1
H-2-1-4 FOgEERXE 150x120 mm(18,000 mm)©] 3} m 1
H-2-1-5 ZAYEERX 200<90 mm(18,000 mm)©] 5} m 1
H-2-1-6 ZIATEERZ M 200<170 mn(34,000 mmf)o] 3} m 1
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H-2-1-7 | 238 EERX 250x170 mm(42500 mm)o] 3} m
H-2-1-8 | £ATEERE 300<170 nn(51,000 mm)o] 3k m
H-2-1-9 SAYEERZYE 330%210 mm(69,300 mm)©] 5} m
H-2-1-a | 238EERX 400%215 mm(&6,000 mm)©] 5} m
H2-1-b | 2agEEZZ A30x170 mm(73,100 mm)o] 3} m
H-2-1-c FHPEERT 500x250 mm(125,000 mm) o]} m
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H-2-2-1 SR ER X 70x75 mm(5,250 mm) o] 3} m
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H-2-2-3 | §TAEZZ 150490 mm(13500 mm)©] 5} m

H2-2-4 | $TAEZZ 150x120 mm(18,000 mm)o] &} m

H-2-2-5 SHA A ER 200490 mm(18000 mm)©] 3} m

H2-2-6 | ¥dFAEZZ 200<170 mm(34,000 mm)o] &} m

H-2-2-7 G A ERZ 290x170 mm(42,500 mm)o] 3} m

H-2-2-8 | AFAERT 300<170 nn(51,000 mm)o] 3k m

H-2-2-9 SR ER 330%210 mm(69,300 mm)©] 5} m

H-2-2-a A FA ERZ 400%215 mm(&6,000 mm)o] s} m

H-2-2-b | §HFTAEZEZ 430x170 mm(73,100 mm)©] 5} m

H-2-2-c S FA ERE 500x250 mm(125,000 mm)©] 5} m
H-3 HA AL

H-3-1 FAPVCHAHAEHA F-GV

H-3-1-1 | dAPVCEAHFA&HA F-GV 70 mif m

H-3-2 dsdd CU

H-3-2-1 AsAM CU 35 mr m
H-4 S A 7

H-4-1 | F&gx
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e Aol wldEA AE L
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H-5-1 gl:ﬁ T EA] AE L uid
H-5-1-1 | AFAlE mjdEA AIE m 1
H-5-1-2 | AFAlE Hawh A 1
H5-1-3 | ASAHE AN ZHER) 7 1
H-5-1-4 | AFAZ BAZ|(MEFER) A 1
H-6 J=F
H-6-1 dukd =
H-6-1-1 | 9utdx H-Sv Ma 1
H-6-1-2 | 9utde H-St Ma 1
H-6-1-3 | dutdx= H-S()) Ma 1
H-6-1-4 | 9utdx H-S(F) Ma 1
H6-1-5 | gubdx H-S(C) M 1
H-7 ES
H-7-1 Hj A 9k
H-7-1-1 | 71% m’ 1
H-7-2 22
H-7-2-1 | 71% m’ 1
H-7-3 dx
H-7-3-1 v g 2~
H-7-3-2 A SYPE %A 1
H-7-3-3 | W4dx 7% 400x500x500 M 1
H-8 Elgt7] 2 Hd$7]
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H-8-1-1 B 3}7] S - 1
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H 3 TE3E &4 g 7 A EF (49 A H 1
1. A 8H
1) $A45A 333 80 m
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D #3454 =3 100 mn
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2. AgH] &= )1-6
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D A3 %
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(1 2:9,000mm ] &}) 2) HEQIH 10016 x 1 (m9) = 0.016
3. FTPER A)1-22
D AsH - AgwFue] 3 % 48
1. A=A
1) 23gE EZZ 150x90x1,000mm(H 2:13500 mro]a})
EZx 2. 5] 71)4-30
H-2-1-3 150x90mn m D siAAS 10021 x 1 (m3) = 0021
(A4:13500mi©] 1) 2) BEQIR 0021 x 1 (mP) = 0.021
3. FTER A2
D AER s AP 3 % A8
1. AEH]
1) F3YE ERZX 150x120x1,000mm(™H 2:18 000mr©] 5})
EZE 2. =5 #1)4-30
H-2-1-4 150x120mm m ) RAE 0024 x 1 (m3) = 0024
(1 4:18,000mm o] 3} 2) HEQIHE 10024 x 1 (m9) = 0.024
3. FTER Wiz
D AsH - AgwFue] 3 9% A8
1. AEH]
1) F3E EZX 200x90x1,000mm(H 4:18,000mme] &)
ERX 2. = #1)4-30
H-2-1-5 200%90mm m 1) #AAE 0029 x 1 (m%) = 0.029
(%1 2:18,000m'©) 3}) 2) HECIR 0029 x 1 (m%) = 0.029
3 Biéw “)1-22
D AsH s AgwFue] 3 % 48
1. A8H]
1) £3YE EZE 200x170x1,000mn(H :34,000mro] 5}
Egx 2. =5n] 71)4-30
H-2-1-6 200%170mm m D wAAE 0034 x 1 (m3) = 0034
(1 2]:34,000mre] 3}) 2) HECIR 1 0034 x 1 (mY) = 0.034
3 ITER Z)1-22
1) ABH  AFw=Fue] 3 % H8
1. A8H]
1) Z38E ERI 250x170x1,000mn(H 2}:42,500mto] 5})
Egx 2. =5H] #1)4-30
H-2-1-7 250%170mm m D wAAE 0041 x 1 (m3) = 0.041
(W 2:42 500mre] 3}) 2) HECIR 1 0041 x 1 (m3) = 0.041
3. FTER A)1-22
D AsH  AgwFue] 3 % 48

KRQP E-04080
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B ==

H 3 TF3E @49 4 7 A F (d A H| 31
1. A=A
1) 23ge ERZZ 300x170x1,000mn(H #:51,000mo] 5})
ER L] 71)4-30
H-2-1-8 300x170mm m 1) wjAAF 0051 x 1 (m3) = 0.051
(1 4:51,000mmro] 3} 2) HEJH 0051 x 1 (mP) = 0.051
3 FTER A)1-22
D A AP0 3% A8
1. AsH]
1) 32 E EZX 330x210x1,000mn(H 2:69,300mm¢] 3})
ERT 2. =] #1)4-30
H-2-1-9 330%210mm m D 8w AE 0056 x 1 (m3) = 0.056
(1 4:69,300mmo] 3} 2) BEAH 0056 x 1 (mP) = 0.056
3 FTER A)1-22
) AFEY - FAFH=FY] 3% A8
1. A8H]
1) S3EE EZX 400x215%1,000nm(A 4:86,000 mro]s})
ERXT 2. =5 #1)4-30
H-2-1-a 400x215mm m D ¥iAAF 0072 x 1 (m3) = 0.072
(1 4:86,000mr o] 5}) 2) HEQAHE 10072 x 1 (m%) = 0.072
3 FTER A)1-22
1) AEH - AR=FH9 3 % A4
1. A&
1) 23E EZE 430x170x1,000mn(H 473,100 mre]s})
ER 2. w=5n) 71)4-30
H-2-1-b 430x170mm m 1 ¥iAAF 0074 x 1 (m3) = 0.074
(W 4:73,100mre] 3}) 2) Q1Y 10074 x 1 (m9) = 0.074
3 FIER AA)1-22
) AgR AP 3 % 48
1. A8H]
1) 23YE EZE 500x250x1,000mn(A A:125,000 mro] s}
g 2. w1ty #1)4-30
BEZ=1=¢ 500x250mm m 1) #AddF - 0080 x 1 (mE) = 0.080
(4 4:125,000m©] 3}) 2) HEAH 10080 x 1 (m) = 0.080
3 FIER 1-22
D AgR - AP 3 % A48
H-2-2 FAYFAEZT
1. AEH]
1) &AFA EZE 70x75x1,000mm(H A:5250 mm)
§5n) ERT 2. w5 %1)4-30
H-2-2-1 70 % 75mm m D HPEAZE 0 0.011x1(m)*0.6(Fd A EZ2)=0.0066 A)4-29 A ©
(A 2}:5,250mt) 2) BEAE 1 0.011x1(m3)*x0.6(Fd 54 E&ZZ)= 0.0066
3 FTER A)1-22
D AEH : Awiule) 39 44
1. A 84|
1) 44 EZE 120x70x1,000mm(H 4:9,000 mr)
§5n) ERT 2. w5 71)4-30
H-2-2-2 120 x 75mm m 1D #AAE 0 0.016x1mB)*X06(FAH A EZZ)=0.0096 A)4-29 s ®
(14:9,000mm) 2) REAH 1 0.016x1(m)*0.6(FAFA EZZ)= 0.0096
3 FTER 1-22
D AsH  AgwFue] 3 % A8
1. A=H]
1) 44 EZE 150x90x1,000mm(H 2:13,500 mr)
Fsn] Emm 2. x| #)4-30
H-2-2-3 150 x 90mm m 1) MRAE 0 0.021x1(m)*0.6(3H 54 EZ2)=0.0126 A)4-29 A ©
(74 4:13,500mn’) 2) BEQAY 1 0.021x1(m)*0.6(F4A EZ2Z)=0.0126
3 FTER A1-22
D AEH : Aweinle) 39 Hg
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ﬂ
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H 3 TE3E &4 g 7 A EF (49 A H 1
1. AEH
1) 34 EZE 150x120%1,0000n(H 2:18,000 mr)
GHFA ERX 2. =5 )4-30
H-2-2-4 150 x 120mn m 1) iR AE 1 0.024x1(mB)x06(FAFA ERZ)=0.0144 A)4-29 A ©
(| A:18,000mir) 2) HECIR : 0024x1(mB)X06(TAEFA ERZ)=00144
3. FTER W1z
D AEH - AP ne] 3% A&
1. AsH]
1) AEA ERZZ 200x90%1,000mn(H 2}:18,000 mr)
AANFA ERE 2. w=Fn) 2)4-30
H-2-2-5 200 x 90mm m 1) #AAFE 0 0.029x1(m3)*x0.6(3d 53] ERZ)=0.0174 A)4-29 A2 ®
(| A:18 000mir) 2) HECIE 1 0.020x1(mZ)*06(TA4A ERZ)=00174
3. FTEER A)1-22
1) AEY  AFHEF0e 3 % 48
1. =]
1) FA5A EZZ 200x170x1,000mn(H 21:34,000 mr)
F5A ERE A ] #1)4-30
H-2-2-6 200 x 170mm m 1D #AAE © 0.034x1(mB)*x0.6(A5A EZZ)=0.0240 A)4-29 A ®
(A 2}:34,000m) 2) BEQR 1 0.04x1(mB)*x0.6(FAFA ERZ)=0,0240
3. FTEER A)1-22
1) AZH AT 3% AL
1. A=
1) F45A EZZ 250x170x1,000mn(H 2:42,500 mir)
4R ERT =5 2)4-30
H-2-2-7 250 x 170mm m 1) HIAAZE 0 004131 (m)X06(FA A EZZ)=0.0246 A)4-29 A ©
(A 2}:42,500m) 2) BEOIE 1 0041x1(mB)*06(TAH4A ERZ)=0.0246
3. FTTER AA)1-22
1) Azv]  AH=Tr9 3 % 44
1. A=
1) FAFA EEE 300x170x1,000mn(H 2:51,000 mm)
FAA ERE A= ] #1)4-30
H-2-2-8 300 x 170mm m 1) #iAAF 0 0.051x1(mE)*0.6(FAFA EZZ)=0.0306 )4-29 &4 B
(H2}:51,000mr) 2) BEOIE 1 0051x1(mB)*06(TAE4A EZZ)=0.0306
3 BiéE )1-22
1) AEH] : AHEFH 9 3 % A&
1. Al=H]
D FAFA EZE 330x210%1,000 mn(H2:69,300 mr)
A E] ERE 2. =5 #1)4-30
H-2-2-9 330 x 210 mm m 1) #AAE 0 0.056x1(mE)*0.6(FAFA ERZ)=0.0336 #1)4-29 A B
(14:69,300 mm) 2) HEAH : 0.056x1(mP)*0.6(FAFH EZ2X)=0.0336
3 FTER A)1-22
1) AEH]  AFHEFHY 3 % A8
1. AEH]
1) FAFA EEZ 400x215%1,000mn(H 2:86,000 mr)
StAex] ERE 2. =5 2)4-30
H-2-2-a 400 x 215mn m D wAdE 0 0.072x1 () X0.6(FAFA ERZ)=0.0432 )4-29 A ©
(A 2}:86,000mr) 2) HECIE 1 0072x1(mB)X06(FAFA] ERZ)=0,0432
3. FrER A2
DAY - Arefue 3 % 44
1. AsH]
1) A ERE 430x170x1,000mn(H 273,100 mr)
AANFA ERE 2. w=5n) A)4-30
H-2-2-b 430 x 170mn m 1) HiAAE 1 0.074x1(mZ)x0.6(FAFA ERZ)=0.0444 A)4-29 |4 ©
(" 2}:73,100mr) 2) HECIR : 0074x1(mZ)X06(TA4A ERZ)=0,0444
3. FTER A2
1) AEH]  AFHEFHY] 3 % 48
1. AsH]
1) F45A EZZ 500x250x1,000m(H 2:125,000 nr)
FH5A ERE A ] #1)4-30
H-2-2— 500 x 250mm m 1) #AAE + 0.080x1(mB)*x0.6(AFA EZZ)=0.0480 A)4-29 A ©
(1 4}:125,000mi) 2) BEOIH : 0.080x1(mB)*0.6(TAFA E R Z)=0.0480
3. FTEER )1-22

D AsH  Agetuel 3% 48
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D AS Aol 3 % g

33 TE3E &4 4 7 A E (4 A H 1
H-3 HAFA
H-3-1 F-GV w4A PVC AAHA &AM
1. AsH]
1) FAPVCHAHA A F-GV) 70 mr
2. Y &2 A)1-6
) A 15 %
H-3-1-1 70 mr m
3. w5 #1)3-38
1) #iAF 1 0.008 Hesd%] p34
4 BB H)1-22
D AEY AP 3% A%
H-3-2 CU AFAA
1. A 84|
1) AEAXN(CU) 35 mf
2. A=A 5 A)1-6
1) 944 :5%
H-3-2-1 35 mi m
3. =5 #1)3-38
1) wEEE 0007 Bkl dR pU
4 FTER A)1-22
D ARH - ARwrae) 3 9% Hg
H-4 S g
H-4-1 FHAGA
1. A
1) S IxH2HOLE) 70 mit
2 2. i) A)4-37
L= 70 m ¢ 1) ALA|ZAZE : 047 x 03(FHTR}) = 0,141 H4 3
3 ETTER A)1-22
D Az ARwTE e 3 9% A8
o5 Aol E wiAdEA
AE 2 o d g A
H-5-1 Aol &
1. AzH]
1) AFAlE MAREA AE
L“.D 4 _A=
2 % A o] & 2 TH‘H o B 445
H-5-1-1 WA TA A E m D AelE4F 1 005 x 0.01(100m%) = 0.0005
2) HESR : 010 x 0.01100m%3) = 0.0010
3, TEEE A1-22
DAY P59 3 % HE
1. g
1) AFAlE R
2. ) A)4-45-1
H51-2 | AZA )L nag 7 1) AelBAZ 1 015 x 0.01(100712) = 0.0015
2) HEQR : (015 x 0.01(10070%) = 0.0015
3 TTER 2)1-22
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KOREA
NATIONAL RAILWAY

% 7 A E (4 A

B 1

H-5-1-3

7

1. A=A

1) AFAZ FA7]

2. =5

D A71EA 714 ¢ 0.07
2) HEAH 1007

3 FTTER

D AEH Ao 3 9% HE

#)4-46

Z)1-22

H-5-14

7N

1. AlEH|

D ASHAZ EA7]
2. =5

1) BEAH 1008
3 TIER

D Az AR 3 % g

#)1-22

H-6

H-6-1

* @FdmE d=F AE7|x EFS HAET U5

H-6-1-1

H-Sv

R =
O EH37
(1.02/6)%(((2%2.712+2.1)%2.212)+((2+2.1+2.712)%1.6))=4.709(m’)

@ SHul$-71(FA7])

4709(E] 3} 7] &) ((2.1%1.6%0.15)+(1.9%1.4%1.02))=1.4920( )

@ HEAY

(2.1%1.6+0.15)+(1.9+1.4%1.02)=3.2170(m’")

@ o=

1.6+0.1%2.1=0.3360(m")

® 71 Z3YE

2.1%1.6+0.05=0.1680(m’)

® A ZagE
(1.4%1.420%1.9)~(1.080%1.3+1.5)-((0.60/2)"2#3.14*0.2%2)—((0.114/2)"2
%3.14#(0.2%6+0.12%1))-0.40%0.42+0.21=1.5111 (1)

@ FAAFH

{(2.1+0.05%2)+(1.6%0.05%2) }+{(1.9%1.42+2)+(1.4%1.42x2) }+{(1.5%1.3+2)
+(1.08%1.3%2)—(0.4%0.42x2)+(0.2+(0.4+0.42)%2)}

=16.4420(m)

A D13
{11%(1.321+0.3)#2+11(1.321)+5+1.321%2+5+(1.321+0.3)*2+(1.330+(0.
3%2))%11+1.830%(0.3%2)*8}+{1.8%7+(1.8+0.6)*7%2+(1.3+(1.3+0.6))*7*2
—(0.40%4)%1-(((0.60+0.32)+0.60)*6)=1 }+0.995=187.8340=0.1878(ton)
W4y SR (EEFYFA) 50mm, 100mm, 125mn

A X 7 Aol w2}

979 45t
((((0.05+0.68+0.039+2)(0.05%2+1.420)-0.05+0.05+2-0.05%(0.039:2)*2
)#2)+(((0.051+0.037)%2+0.44)%(1.42+0.05%2))-0.05+0.05+2-0.05+(0.03
7+0.051)#2)%37.03=124.1705(ke)=0.1242(ton)

@ "1 7, 50x50x6t
((((0.07%2)+(0.08%2)+0.15)6)0.888)=18.7086 (kg)

®@ 9857 D12
((((0.07%2)+(0.08%2)+0.15)+6)0.888)=2.3976(kg)=0.0024(ton)
@ 9957 D20
((0.1%3)%2.47)=0.7410(kg)=0.0007(ton)

@ ggod=w

124.1705(5-1 7 3)+18.7086(" 1" & 74)+2.3976( ) & &-
(98 57D20)=146.0177(kg)

® ASY : 17

® A : 37

7D12)+0.7410
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W3 T E A =49 4 7 A E (4 A H 1

1. A 8H
1) B37] : 4.7090(m’)

2) FAAFH ¢ 16.4220(m)

3) Evl$¢7] : 1.4920(m’)

4) TFA]7] : 1.4920(m’)

5 ZHEAZ @ 32170(m’)

6) NHE(ZEME 40kg) : 346(ke*x1.6791(m’)+40(kg)=14.5242(3E)

7) 2 AAD © 828(kg)x1.6791(m’)=1,390.2948(ke)

8) AFZH(25meldh) © 1,011(kg)x1.6791(m')=1,697.5701(kg)

9) FH7s ¢ 0.1242(ton)

10) "1 @7; 1 18.7086(kg)

11) 9382 74(D12) : 0.0024(ton)

12) 99385-7(D20) : 0.0007(ton)

13) 9= : 0.3360(m")

14) #2952 (50, 100, 125mm) : A ] 7] 2ol w2}

15) A2l @ 3(m)

16) &Folde+=
FY 7))+ (" 7 +( ¥ 57 (D12)+(D20))
=146.0177(kg)

17 A% 1A

18) A @ 187.8340(kg)=0.1878(ton)

19) A EA A A

(R (g 7 +(2E B 7HD12)+(D20))
=146.0177(kg)=0.1460(ton)

2. w51 E)2-1-8-1
D HI7|(ZAREAL 2 A2 I EAL)~1m) QEIEE %))
7hH BEQIR 1 0.32x47090(F %) = 0.9418

H-6-1-1 H-Sv ES

2) FAAFHGIAEA) 3)6-3-1
7hH EET 1 022 x 164220(F%) x 0.34(53]) = 1.2284 (BAER A=) 2
) BEQR 012 x 164220(5%) x 0.34(53]) = 0.6700 )

3) %7 £)2-1-8-1
7h) REQIE ¢ 0.1x1.4920(F%) = 0.1492 CEI=E )
4) tA]7]

7h BAaAE 1 0.1x1.4920(57%) = 0.1492
5) A (A7)

7h HFQH 1 02x32170(57 %) = 0.6434
6) LA ERA(FITEE) F)6-1-2
7h £AYEF 1 0.8x1.6791(FF) = 14272 (FEEE)
L) BE1H 1 0.82x1.6791(5%) = 1.3769

7) FEZZGHIZAA) )3-4-4
7hH BEQIE 1 0.049%0.3360(FF) = 0.0165 (71 2AA)
8) T2 k= (50, 100, 125mm) #1)2-18
7} A o] 4550, 100mn) : 0.024x (AYt2=A)

[e)
(2ol e F7ivit} 80%%
W) SatA ol &4 -3(125mm) : 0.026x5= %
(2ol mi1E F7kkc} 80%%)
th HEQIR(50, 100, 125mm) : 0.012x5>F
(2ol mi1d F7hvic} 80% %
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H 3 TEFT3 =9 g 7 A EF (4 A H 31
9) A& 7t 2 2HEH) )6-2-1
71 BEE 0 2.76x0.1878(H E+#)=0.5183 (A3 2
) HEOE 1 104x0.1878(H 24 2)=0.1953 )
10) EE A2 9 AA(7eh #1)3-30
7h Ay 1 27.4x0.1460(-F-FoFA =24 3)=4.0004 HAF 7 4
W) £-F ¢ 3.60x0.1460(-&Fot A = F#)=0.5256 %)
th HEE 1 (.34x0.1460(& 8o} =2+ 2)=0.049%6
3 FTEREFH = (7] 5w 71,54 7], ZFE A 2] A £) +)1-3-5
9] 3% A8)
1) FAAFHGIAFEA]) +)6-3-1
7h FEEF 1 1.2284%0.03=0.0369 (A A 4
) ®HEIE 1 (.6700x0.03=0.0201 SR
2) LAYEFHA(FITFZRE) 3)6-1-2
7h ZAYEF : 1.4272x0.03=0.0428 (FHERD)
) BECIE 1 1.3769x0.03=0.0413
H-6-1-1 H-Sv S
3) HE7|2HH I 2AA) 3)3-4-4
7hH BESIE 1 0,0165%0.03=0.0005 (71%AA)
4) T2 (50, 100, 125mm) #1)1-22
71 E A o] B-H 350, 100mm) : 0.024x52x0.03
(3ol wi1E F71vlc} 80%%)
W) EagA o] B4 3(125m) : 0.026%x52x0.03
(32l wi1E F71vlc} 80%%)
th BHEQIE(50, 100, 125mm) : 0.012x5E=0.03
(B2 mi1g Frtvit 80%%
5) A 7 2 - A)1-22
7h AZF 1 05183%0.03=0.0155
) BER 1 (.1953x0.03=0.0059
6) FAE A= 2L AR (7 A)1-22
7} H ¥ 4.0004x0.03=0.1200
W) £5F 0 05256%0.03=0.0158
th ®HEIE 1 (.0496x0.03=0.0015
KRQP E-04080
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#2)-(0.337%4)-(0.848+4) - ((0.55+0.3+2)+0.55)*4~((0.57+0.3%2)+0.57) *
10=172.8530(ke)=0.1729(ton)
© Wd SYBHEFE5AA) 50mm, 100mm, 125mn

3 7 0] o 2}

10 F¥73 45t
(((0.05+0.68+0.039+2)(0.05%2+1.420)-0.05*0.05%2-0.05*(0.039:2)*2)
*2+((0.051+0.037)*2+0.44)+(1.42+(0.05+2))~0.05+0.05%2-0.05+((0.037
+0.051)%2)+0.48+(0.62+0.1)*1)*37.03=136.9680(kg)=0.1370(ton)

@ "1 g7}, 50x50x6t
((0.455%6)+(0.95%3)~(0.045+0.045/2)*2+3+0.15%1)*3.77=21.5792(kg)

® ¥93957%, D20

0.1%4 = 2, 70 0.9880(kg)=0.0010(ton)

LgotdE=

136.9680( 551 7 3h)+21.5792(" 11" & 7 +0(4 & B-73D12)+0.9830( L 3
%74D20)=159.5352(kg)

® ASY : 17

c&

@ A< - 47

H 3 TE3E =9 g 7 A EF (49 A H 31
* AbE7] %
OR=EM
(0.55/6)*(((22.43+2.1)%1.924)+((2%2.1+2.43)%1.6))=2.2000(m’")
@ HH$-7] (4] 71)
2.2-((2.1%1.6+0.15)+(1.9%1.4%0.55))=0.2330(m’)
@ ZEAY
(2.1%1.6+0.15)+(1.9%1.4%0.55)=1.9670(m")
@ 9=
0.95+0.1%2.1=0.2000(m’)
® 712 23agE
1.6+0.05+2.1=0.1680( ")
TA 2aTE
(1.4%1.9%1.44)-(1.32x1.5%1.08)-((0.60/2)"23.14*0.22)— ((0.114/2)"2x
3.14#(0.252+0.12+1)) - ((0.45+0.86)+(0.40.35))%0.2=1.4683( m’)
@ FAAFH
(0.95%0.05%2)+(2.0+0.05%2)+(1.4%1.44%2)+(1.9%1.44%2)+((1.08%1.32)2
)+((1.5%1.32))#2-((0.45+0.86)+(0.4+0.35))#2+0.2:(0.4+0.35+2+0.45+0.8
6+2)=16.2102(m*)
A2, DI3
(11%(1.343+0.3)%2)+(11%1.343)+(5+1.343%2)+(5+(1.343+0.3)%2)+(1.33+

H-6-1-2 H-St M [(0.342))%11+1.83#(0.3#2)#8+(1.8+7+(1.8+0.6)#72)+((1.3+(1.3+0.6))*7
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ﬂ
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ol
=
A,

% 7 A E (4 A

B 1

H-6-1-2

H-St

1. A 8H

1) E57] : 2.2000(m)

2) FAAFH 1 16.2102(m)

3) Fu$-7] : 0.2330(m")

4) B 7]+ 0.2330(m’)

5 ZHEAZ @ 1.9670(m’)

6) AME(EEHE= 40kg) « 346(ke)x1.6363(m")+40(kg)=14.1540(3E)
7) B (AAD : 828(ke)x1.6363(m')=1,354.8564(ke)

8) AFzH(25mnelah) : 1,011(ke)x1.6363(m')=1,654.2993(ke)

9) 4751 : 0.1370(ton)

10) "1 7 215792(ke)

11) 98 57(D12) : —(ton)

12) 98 E7(D20) © 0.0010(ton)
13) 2= : 0.2000(m’)

14) 2 =42](50, 100, 125mm)
15) A2l @ 4(m)

16) &Folde+=
C(FYHAIHH( (L
=159.5352(kg)

17 AS% 10

18) A : 172.8530(kg)=0.1729(ton)
19) ;(Lz«] L= ;q] PAYS] x]

S (FEAH(1EIH+(DE T
=159.5352(kg)=0.1595(ton)

2. w=5n)

D) B9 (ZARAL 2 A4 I EAL)~1m)

7} 11Ei°1%%: 0.32x2.2000(5=) = 0.7040

A F4 (53] ALEA])

7H HEZF 1022 x 162102(F%) x 0.34(53]) = 1.2284
) HEQR (.12 x 162102(F%) x 0.34(53]) = 0.6700

3) =97
7h BB

4) TA] 7]
7h HEQ1E 1 0.1x0.2330(5%) = 0.0233

5 FEAZ(AZ)

7h HEolH- 02x1967«“€*)— 0.3934

6) AT EE(F-ITRE)
7h ZaEZR 0.85x1.6363<
) HEQIR : (.82x1.6363(5

7) HEN 21 2AA)
7h) BEQ13 1 0.049%0.2000(F

8) 2] (50, 100, 125mm)
ﬂ)Eﬁ“ﬂléﬁ#ﬁ)mmm

(3ol wi1g F7hvt 0%

W) Sa LIMS@#U%m>omw*a
§_ ﬂ w1 F7hbek 80%%)
th BHEQIN(50, 100, 125m) : 0.012x5%
?1 Zxe]] Hl F7htt} 80%%)

A7) Zxof w2k

7(D12)+(D20))

7 (D12)+(D20))

0.1x0.2330(+%) = 0.0233

2) = 1.3909
) = 1.3418

) = 0.0098

0.024x5=2F

€)2-1-8-1
il

(=€ 27))

+)6-3-1
(61—_)}7_] 3T 21 }3;] 1;%
aiAl)
&)2-1-8-1
ol

BEEER)

(712474)
#1)2-18
(EF7F=A)
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i ) ' M
H 3 TE3E &4 g 7 A EF (49 A H 1

9) A 7t 9 2R )6-2-1
74 HAIF 0 276x0.1729(H 25 2)=04772 (A7 2
) BHEQR 1 1.04x0.1720(H 25 2)=0.1798 )

10) #EE A= 2 A () #1)3-30
7h AAF ¢ 27.4x0.1595(&F ot = F4#)=4.3703 EHAF 7 4
W £4F ¢ 3.60x0.1595(EF ot =54 4)=05742 %9)
th HEQIR 1 (.34%0.1595(& g0} =2 )=0.0542

3. FTEE AP =T (B 7] 5w 7], 54 7] ZFE X 2 A £) )1-3-5

9] 3% &)

D FAAFHGIAEAD +)6-3-1
7h HEEE 1 1.2125¢0.03=0.0364 (FAAFH 82 2
) ®HEIE 1 0.6614x0.03=0.0198 SR
2) LAYERA(FITEE T)6-1-2
7} 23HEF : 1.3909x0.03=0.0417 (GRS
) BHEQE : 1.3418x0.03=0.0403

H-6-1-2 H-St BN

3) FE72GH2AA) &)3-4-4
7} HEQIE 1 0.0098x0.03=0.0003 (71244)
4) #AZF957X](50, 100, 125mm) #1)1-22

71 B¢ o] B 350, 100mm) : 0.024x52x0.03
(g2l wi1g F7ht 80%%
W) EugA o] &4 3(125m) : 0.026%x52x0.03
(FHgzel wi1g F7hvit 80%%)
th HEQIR(50, 100, 125mm) : 0.012x5=Zx0.03
(el w1g F7ht 80%%
5) AL 7t 2 2HEH) A)1-22
7h ASE 1 04772x0.03=0.0143
) ®HEIE 1 (.1798x0.03=0.0054
A)1-22

6) Fd= A 3 AARHD)
7} A3 1 4.3703x0.03-0.1311
b &3F  05742x0.03-0.0172
th ®EH 1 0.0542x0.03=0.0016

O]

KRQP E-04080
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ﬁ
IR (5
NATIONAL RAILWAY

Ms | FFFE | @9 g b A (4 A) Hl 3

* AbE7] %

D H]
(1.02/6)*(((2+2.712+2.1)%2.212)+((2%2.1+2.712)¥1.6))=4.7090(mm’)

@ =w+71(3A71)
4.709-((2.1%1.6+0.15)+(1.9%1.4%1.02))=1.4920(m’)

© TEA
(2.1%1.6+0.15)+(1.9+1.4%1.02)=3.2170(m’")

@ uE

1.6%0.1%2.1=0.3360(m’)

® 71z 23YE
1.6+0.05+2.1=0.1680(m’)

TA 23 E
(1.4%1.42%1.9)-((1.08%1.3%1.5)+((0.114/2)"2%3.14+(0.26+0.12+1))+((0.
60/2)"2+3.140.2+4)+(0.45+0.59+0.2+1))=1.3786 (m’")

@ FHAFH
{(2.1+0.05%2)+(1.6+0.05+2)} +{(1.9%1.42%2) +(1.4%1.42%2)}+{(1.5+1.3+2)
+(1.08%1.3%2)—(0.45+0.59+2)+(0.2(0.45+0.59)*2) }=16.3350( ")

A D13
{{((1.321+0.3)%11)%2+(1.321%11)}+{((1.321+0.3)¥5)*2+((1.321%5)+2)}
H-6-1-3 H-S(]) Az [H(1.33+(0.3+2))x11}+{(1.83+(0.3+2))*8} +{(1.8+7)+((1.8+0.6)+7)+2} +{
((1.3%7)%2)+((1.3+0.6)*7)%2)—{(0.60%4) }-{((0.65+0.3%2)+0.65)*4} }*0.9
95=200.2766(kg)=0.2003(ton)
O Wy S R(F2FY5EA) 50mm, 100mm, 125mn

AR 7 & w2}

10 F¥73 45t
((((0.05+0.68+0.039+2)*(0.05%2+1.420)-(0.05*0.05)*2-0.05%(0.039*2)
#2)%2)+(((0.051+0.037)%2+0.44)*(1.42+0.05%2) )-0.05+0.05%2-0.05*(0.
037+0.051)#2+0.48+(0.35+0.1)*1)%37.03=132.1686(kg)=0.1322(ton)
@ "1 g7}, 50x50x6t
(((0.46%4)+(0.44%2)+(0.95%3)) - (((0.45+0.45)/2)+6))*3.77=18.7086(kg)

© ¥9+e7d, D12
((((0.07%2)+(0.08+2)+0.15)+6)*0.888)=2.3976(kg)=0.0024(ton)

@ 93987, D20
((0.1%4)%2.47)=0.9880(ton)

@ Sgordws
132.1686(F-3 7+-31)+18.7086(" 71" 8 7)+2.3976() 8 573 D12)+0.9830
(K38 5-7D20)=154.2628(kg)

® A% : 1)

@® A< : 370

KRQP E-04080
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=
fofs
ol
o
=g

h)

% 7 A E (4 A

B 1

H-6-1-3 H-S(J)

2.

1. A=A

© 4.7090(m’)
2) FAAZZ 1 16.3350(m)
3) Hul-$-7] : 1.4920(m’)
4) BA17] : 1.4920(m’)
5 ZHEAZ @ 32170(m')
6) AME(EEM= 40kg) © 346(ke)x1.5466(m")+40(kg)=13.3780(3E)
7) B (AAD : 828(ke)x1.5466(m')=1,280.5848(ke)
8) 2} (25mmel 8 ¢ 1,011(kg)x1.5466(m')=1,563.6126(kg)
9) ¥4 79 @ 0.1322(ton)
10) "1" &7 ¢ 18.7086(ke)
11) 938 E74(D12) : 0.0024(ton)
12) 93 E-7:D20) : 0.9830(ton)
13) == 0.3360(m)
14) %i?%#%ﬂ (50, 100, 125mm) :
15) A - 3(m)
16) &Fold =
S (FEAI) ("
=154.2628(kg)
17 AE% 1A
18) A : 200.2766(kg)=0.2003(ton)
19) 7&;4 xﬂxl—/H x]
e AR S R (- PASER C I A
:154.2628<kg>

]

D Ha7] -

CRM L L e

"G 7)+(4 9 54 (D12)+(D20))

¥ 7(D12)+(D20))

D) E37 (AL B A IEALO~ 1m)

7}) HEH 1 0.32¢4.7090(7 =) = 1.5069
2) FAFH G

7}) ﬁEE%‘ 0.22 x 16.3350(

W) BEAH 012 x 16.3350(

3) Hd$-7]
7h BEAF 1 0.1x1.4920(5
4) ©#]7]
7h HEQIH- 1 0.1x1.4920(5
5) FEA (A7)
7h BEOlH- 1 0.2x3.2170(5
6) LAY EBA(FITEE)
7h 2P EF : 0.85x1.6791(5F
W) HEIR 1 0.82x16791(FH) =
7) e 2R 2AA)
7h HEQIR : 0,049x0.3360(5%) = 0.0165
8) J)fi‘"rL W22 (50, 100, 125mm)
7h S0l = (50, 100mm) © 0.024x %
(6& Faol w1 F7hekch 80%%)
W) 5 ‘?ﬂ o] 8% 3(125m) : 0.026xF %
(61 ol w1 F7beke} 80%%)
=) %0 (50, 100, 125mm) 0.012x =2
(320l uH ZF71mct 80%%

o

) x 0.34(53]) = 0.0367
) x 0.34(53]) = 0.0200

i
T
) = 01492
) = 01492
) = 06434

%) = 14272
1.3769

l"

&)2-1-8-1
SEZER)

(

+)6-3-1

(ELL]_H 3L X] 2] X] E‘l

El)
F)2-1-8-1
]l

REEER)

(29722

KRQP E-04080
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=
R KOREA

NATIONAL RAILWAY
33 TE3E =9 g 7 A EF (49 A H 1

9) A 7t 2 2HEI) )6-2-1
7h HATF  276x0.1878(H 25 8)=05183 (A7 2
) HEOR 1 104x0.1878(H 24 2)=0.1953 %32)

10) ZEE A2 94 AX(7eh) #1)3-30
74 HRE ¢ 27.4x0.1460(-8F ot = 2 2)=4.0004 (HAF 73 4
W) £41F ¢ 3.60x0.1460(-& 8ot = F#)=0.5256 z9)
th) HEIR 1 (.34%0.1460(& g0} =2 )=0.0496

3. TTEEEFHETFH(E 7], 5] w1971, T 7] FEA 2 A 9]) )1-3-5

°] 3% A§)

1) FIAFHGIAFEA]) )6-3-1
7hH HEEY 1 1.2219%0.03=0.0369 (FAAFH 4x 4
) BEAE 1 0.6665x0.03=0.0200 ajA4)

2) ZAZEEA(FETEE) +)6-1-2
7 2AHEF ¢ 1.4272x0.03=0.0428 (AnIEl)
W) HEOIE 1 1.3769x0.03=0.0413

H-6-1-3 H-S(]) ES . i
3) =71 2HH 1 2AA) 3)3-4-4
7hH BESIE 1 0,0165%0.03=0.0005 (71%AA)
4) FAZFFA](50, 100, 125mm) )1-22
71 B o] B-H 350, 100mm) : 0.024x52x0.03
(32l wi1g F7keith 80%%

) EagHA o] B4 2-(125m) © 0.026x52x0.03
(3ol wi1E F71vlt} 80%%)

th HEIR(50, 100, 125mm) : 0.012xF2=0.03
(g2 wi1g F7ivit 0%

5) A 7k 2 2HE) A)1-22
7h HA2F 1 05183%0.03=0.0155
) BES1E 1 0.1953x0.03=0.0059

6) FAE A= 2L AR (7 A)1-22

7} A3 1 4.0004x0.03-0.1200
W) 8483 05256x0.03-0.0158
th HEH 0 0.0496%0.03=0.0015

9, o
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% 7 A E (4 A

H|

H-6-1-4

H-S(F)

* AbE7] %

D H]
(1.02/6)*(((2+2.712+2.1)%2.212)+((2%2.1+2.712)¥1.6))=4.7090(mm’)

@ =w+71(3A71)
4.709-((2.1%1.6+0.15)+(1.9%1.4%1.02))=1.4920(m’)

© TEA
(2.1%1.6+0.15)+(1.9+1.4%1.02)=3.2170(m’")

@ uE

1.6+0.1%2.1=0.3360(m')

® 71z 23YE
2.1+1.6+0.05=0.1680( )

TA 23 E
(1.9+1.4%1.42)-((1.5+1.081.3)+((0.114/2)"2+3.14+0.2x11)+((0.06/2)"2
#3,14+0.2+4))=1.6465(m’")

@ FHAFH
{(2.1+0.05%2)+(1.6+0.05+2)} +{(1.9%1.42%2) +(1.4%1.42%2)}+{(1.5+1.3+2)
+(1.08+1.3%2)}=16.4500( m’)

A, DI3
{{((1.32+0.3)%11)2+(1.32+11)}+{((1.32+0.3)#5)*2+((1.32+5)=2) }+{(1.
33+(0.32))*11 1+{(1.83+(0.3+2))«8}+{(1.8+7)+((1.8+0.6)*7)*2}+{((1.3
#7)x2)+((1.3+0.6)%7)%2}}%0.995=210.1740(ke)=0.2102(ton)

Wd @ E8EA) 50, 100mm, 125mm

A X 7N A of wt2

Y7k, 4.5t
(((((0.05+0.68+0.039+0.039)*(0.05+1.42+0.05))-((0.05+0.05)*2)-(((0.0
5%(0.039+0.039))%2)))*2)+(((0.051+0.037+0.44+0.051+0.037)*(0.05+1.4
2+0.05))-(((0.05%(0.037+0.051))%4))))*37.03=124.0298
(kg)=0.1240(ton)

@ """ 7, 50x50x6t
(((0.46%4)+(0.44%2)+(0.95%3)) - (((0.45+0.45)/2)+3))*3.77=19.8538(kg)

© ¥9+e7d, D12
((((0.07%2)+(0.08+2)+0.15)+6)*0.888)=2.3976(kg)=0.0024(ton)

® 9357, D20
((0.1%6)%2.47)=1.4820(kg)=0.0015(ton)

@ Sgordws

124.0298(F-37-31)+19.8538(" 11" 8 7 +2.3976() 8 574 D12)+1.4820
(98 5-7D20)=147.7632(kg)

® A% : 1)

@® A< : 370

KRQP E-04080
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“? KOREA

NATIONAL RAILWAY

of

o
ey
)

% 7 A E (4 A

B 1

H-6-1-4

H-S(F)

1. A 8H
1) g37] © 4.7090(m’)
2) AFH 1 16.4500(m’)
3) Hull$-7] : 1.4920(m’)
4) OA7] : 1.4920(m’)
5 ZHEAZ @ 32170(m')
6) AHME(EEDE 40kg) : 346(kg)x1.8145(m’)+40(kg)=15.6904(F)
7) 2 (AP ¢ 828(ke)x1.8145(m")=1,502.4060(kg)
8) ArzH(25mme]3}) : 1,011(kg)x1.8145(m’)=1,834.4595(kg)
9) Fx73 : 0.1240(ton)
10) "7 87 19.8538(kg)
11) 938 E7-(D12) : 0.0024(ton)
12) 938 E7-(D20) : 0.0015(ton)
13) 9= @ 0.3360(m’)
14) P2 =22](50, 100, 125mm) : A 2] 7)) A~ ol w2}
15) A - 3(m)
16) &Fold =
S(FEAE(EIHH(LE s
=147.7632(kg)
17 AE% 1A
18) H @ 210.1740(kg)=0.2102(ton)
19) &4 E A 2Hd =]
FY 7))+ ("7 +(d ¥ 57 (D12)+(D20))
=147.7632(kg)
2. =5
D "Ha7|(ZAPEAL 9 A4 1 EAL0~1m)
7h) HEQIR 1 032x4.7090(5%) = 1.5069
2) FAAFHGIAEA)
7hH HEEY 1022 x 163350(5F %) x 0.34(53]) = 1.2305
W) BEAE 1 012 x 16.3350(5+%) x 0.34(53]) = 06712

3) v $-7

7h BEQIR 1 0.1x1.4920(578) = 0.1492

4) t4A]7]

7hH BEQHE 1 0.1x1.4920(5%) = 0.1492

5) FEA (A

7hH BEQIE 1 02x32170(5%) = 06434

6) ZAYEEM(FET2E)

7h ZATYETF 1 0.86x16791(F%) = 15423

) HEQIR 1 082x1.6791(5%) = 1.4879

7) ENEHRE )1 2AA)

7} BEQAR 1 0.049x0.3360(5%) = 0.0165

8) =T =7d=(50, 100, 125mm)

7h EndA o] EH F(50, 100mm) © 0.024x %
(2ol i F7ieit} 80%%)

W) EugAolEA3(125m) @ 0.026x5 %
(2ol mi1d F7hvlct 80%%

th ®EIR(50, 100, 125mm) : 0.012x52
(2ol wi1E F7bc} 80%%)

&
&

7(D12)+(D20))

5)2-1-8-1
(A48 7))
+)6-3-1
(FaAs] A =
aiA)
$)2-1-8-1
AHE 7))
3)6-1-2
(Fgnerd)

(

&)3-4-4
(71244)
#)2-18
(AP7H=A)

,31,
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L ) ' T
H 3 TET3Z =9 g 7 A F (4 A H 31
9) A2 7tE 2 2HEE) 3)6-2-1
7h A 2.76x0.2102(2 25 7)=0.5802 (A37hs &
1) BEQIR : 1 04x0.2102( 2 24-2)=0.2186 22)
10 428 A4 2 A )3-30
70 HIE  27.4x0.1478(8-5-oF A EF ) =4.0497 (AAF 712 2
) 87T 3.6OXO.1478(%%0}053%?%):0.5321 =)
T} HEOIIL : (.34x0.1478(-&-g-oFd =742 2H)=0,0503
3. FTERA A FA] (B 57, =W 7], oA 7], E A 2] A 9) )1-3-5
9 3 9% A&)
1 FHAAFHGEA-EA]) )6-3-1
7h EZF : 1.2305x0.03-0.0369 (B354 A 2
1} BEQIR : 06712x0.03=0.0201 A
9) ZAYERA(LETZE) )6-1-2
7 2AYET : 15423%0.03=0.0463 (SAEER)
L} BEOIR © 14879x0.03-0.0446
| 3 EEERRCI2A) $)3-4-4
SR H-S(F) AE 1 b mEel ¢ 00165%0.03-00005 (71247)
4) P24 (50, 100, 125mm) A1-22
7h) E 37 o] B4 (50, 100mm) : 0.024x5=2kx0.03
(B sl wi1E F7kud 80%%)
L)) E 39 o] B4 2(125m) : 0.026x5=2x0.03
(B sl wi1E F7kad 80%%)
o)) BEQIR(50, 100, 125m) : 0.012x4=2x0.03
(B a0l wi1d F7kekd 80%%
5 H 7 9 2 A)1-22
7h AE 1 05802x0.03=0.0174
1) BEQIR : (.2186x0.03=0.0066
A)-22

6) Fd= A 3 AARHD)
7h) A3 1 40497x0.03-0.1215
b &4T : 0.5321x0.03-0.0160
th ®EH 0 0.0503%0.03=0.0015

KRQP E-04080
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NATIONAL RAILWAY

W5 z2z3 4 9] 4 7 A E (4 A H 3

* AbE7] %

@ "7l
(A3 0.641)%(1.9+0.42)=2.2040(m’)

@ =w+71(3A71)

(A37]% 2.2040)-(71%% 16+0.15%2.1)-(H=E& W4 0.299+1.9)
=1.1319(m')

© TEA

1.072(m')

@ uE

0.95+0.1%2.1=0.2000(m’')

® 71z 2AYE
2.1%0.95+0.05=0.0998(m")

A 23 E
(1.9%1.4%1.17)-((1.5+1.08+1.05)+((0.114/2)"2+3.14+0.2+2)+((0.06/2)"2
*3.14+0.2%4)+((0.45+0.59+0.2)%2))=1.2987(m')
@ FAAFH
{{(2.1%0.05%2)+(0.95+0.05%2) }+{(1.9%1.17+2)+(1.4%1.17%2) }+{(1.5%1.05
#2)+(1.08+1.05%2) }+{(0.45+0.2%4)+(0.59+0.2+4) } } - ((0.45+0.59)*4)
=13.2150(m’)
A D13
{{{((1.078+0.3)x11)*2+(1.078+11) }+{((1.078+0.3)%5)+2+((1.078+5)+2)}
H-6-1-5 H-S(C) Az [H(1.33+(0.3+2))x11}+{(1.83+(0.3+2))*8} +{(1.8+6)+((1.8+0.6)+6)+2} +{
((1.3%6)#2)+((1.3+0.6)%6)+2} }-{(0.6%4+2)+(0.584%4+2)+(((0.584+0.3)*
4)%2)}1%0.995=168.0157(kg)=0.1680(ton)
O Wy S R(F2FY5EA) 50mm, 100mm, 125mn

AR 7 &0 w2}

10 F¥73 45t
(((((0.05+0.68+0.039+0.039)*(0.05+1.42+0.05))-((0.05+0.05)*2)-(((0.0
5%(0.039+0.039))%2)))%2)+(((0.051+0.037+0.44+0.051+0.037)*(0.05+1.4
2+0.05))-(((0.05+(0.037+0.051))#4)))+((0.48+(0.35+0.1))%2))*37.03=14
0.0267(kg)=0.1400(ton)

@ """ 7, 50x50x6t
(((0.46%4)+(0.44%2)+(0.95+3)) - (((0.45%0.45)/2)+6)+(0.15+2))*3.77
=19.8396(kg)

@ 9357, D12
((((0.07+2)+(0.08%2)+0.15)%6)0.838)=2.3976(kg)=0.0024(ton)

® 93857 D20
((0.1%6)%2.47)=1.4820(kg)=0.0015(ton)

B $gotaT
140.0267(F-+74¥1)+19.8396(" 11" % 7)+2.3976(H & &7 D12)+1.4820
(93 574D20)-163.7459(ke)

B AEY : 1

© A - 474

KRQP E-04080
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h)

% 7 A E (4 A

B 1

H-6-1-5 H-S(C)

2.

1. A=A

: 2.2040(m’)
2) FTAER 1 132150(m)
3) Hu$7] : 0.1900(m’)
4) ©A7] + 0.1900(m)
5 FEAZ @ 1.072(m)
6) AME(EEM= 40kg) © 346(ke)x1.3934(m")+40(kg)=12.0961(3E)
7) Be(AAD : 828(ke)x1.3984(m')=1,157.8752(ke)
8) AFZH25mel3h) 1,011 (ke)x1.3984(m')=1,413.7824(ke)
9) 47 1 0.1400(ton)
10) 71" 87 : 19.839(ke)
11) 938 E7(DI12) : 0.0024(ton)
12) 98 27-(D20) : 0.0015(ton)
13) =% : 0.2000(m’)
14) %i?%#%ﬂ (50, 100, 125mm) :
15) A - 4(m)
16) &Fold =
S (FHAIHH(
=163.7459(kg)
17 AE% 1A
18) 3t @ 168.0157(kg)=0.1680(ton)
19) 7<L;<4 =) ;q] A x]
e AR S R (- PASER C I A
:163.7459<kg>

]

D Ha7] -

CRM L L e

"G 7)+(4 9 54 (D12)+(D20))

¥ 7(D12)+(D20))

D "Ha7|(ZAPEAL 9 A4 1 EAL0~1m)
7}) HEQIR : 0.32x2.2040(F %) = 0.7053
2) FAAFHG3AEA)
7}) FELT 022 x 132150(F) x 0.34(53]) = 09885
) HEQR 1 012 x 132150(5%) x 0.34(53]) = 05392

3) HH$7]
7 REQR
4) A7
71 BEQIR 1 0.1x0.1900(5
5 AEAZ(AGH)
7hH BEQR 1 02x1.072(5%) = 02144
6) LAY EBA(FITEE)
b ZATEF 1 0.865x1.3984(5 ) =
W) BHEQIE ¢ 0.82x1.3984(5%) = 1. 46
7) FE7Z2- (71 2A4)
7 HEQIR : 0,049x0.2000(5%) = 0.0098
8) J)fi‘"rL W22 (50, 100, 125mm)
7h 539 012 A (50, 100mm) : 0.024x5
(6& farol wi1d F7bbct 80%%)
W 5 Lﬂl<>1%ﬂ+<125mm> 0.026%5 %
(61 ol w1 F7beke} 80%%)
=) %0 (50, 100, 125mm) 0.012x =2
(320 uH F7ht} 80%%

© 0.1x0.1900(5~%) = 0.0190

) = 0.0190

l"

$)2-1-8-1

(1= 71)

$)6-3-1

ELL]_H—LXI S| X] E‘l
i)

$)2-1-8-1

ol

REEER)

(29722
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ﬂ
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% 7 A E (4 A

Wz | 2273 | o
9) A 7t 2 2HEI) 3)6-2-1
7h) A © 276<0.1680(H 24 2)=0.4637 (@71 9
) BEQIE 1 1.04x0.1680(E 43)=0.1747 Z3)
10) FEE A& H AR 7}‘}) #1)3-30
7h A3 27.4x0.1637(E-g oA =T 4H)=4 EHAF 713 2
) 8% 3.60X0.1637(%‘%°}?4_E%—’F%k) 05893 Z9)
) HEQAH 1 0.34x0.1637(&-F ot B9 %)=0.0557

3. FFER(FH =T (B 37], = vl $-7], TR 7] FEA 2] A 9 )1-3-5
°] 3% A&)
1) FAAFHGIAFEA]) +)6-3-1
7hH HEEY 1 0.9885%0.03=0.0297 (B7)327) A2 2
) BECIE 1 05392x0.03=0.0162 A
2) FAYERE(FITRE )6-1-2
(FHERD)

7} ZAYEF ¢ 1.1836x0.03=0.0357
) BE1H 1 1.1467x0.03=0.0344

H-6-1-5 H-S(C) B
3) =71 2HH 1 2AA) )3-4-4
7hH BEQIE 1 0.0098%0.03=0.0003 (712A44)
4) #AZ957FX](50, 100, 125mm) #)1-22
7hH B A o] B4 3(50, 100mm) : 0.024x4*2%0.03
(320 m1E F7kokt} 80%%)
W) EugA o] &4 3(125m) : 0.026%x52x0.03
(320 m1E F7kut 80%%
th HEE(50, 100, 125mm) : 0.012x5x0.03
(2ol wi1d F7hvlct 80%%:
5 A 7k ¥ 2H(EHD )1-22
7h AF 1 0.4637x0.03=0.0139
) HEQIR : (,1747%0.03=0.0052
%1)1-22

& 1 4.4854x0.03=0.1346
W) 843 ¢ 05893x0.03=0.0177
Q15 0.0557x0.03=0.0017

KRQP E-04080
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H 3 TEFT3 =9 % 7 A & (d A H 31
H-7 FEAL
H-7-1 A uk
1. A 5H](4,300%4,100x400)
D) 23 E (28 TF2E) 1 4,300%4,100x400=7.052(m’)
2) NHE(ZENT 40kg) © 346(ke)<7.052(m)+40(ke)=60.9998( L)
3) Ral(AAD : 828(ke)x7.052(m')=5839.056(ke)
4) A2H25mols}) : 1,011(ke)x7.052(m")=7129.572(kg)
5) AR (ZFH63))) ¢ ((4,300+4,100)%2)x400=6.72(m)
2. =%-H)
)6-1-2
H-7-1-1 WA 7] = - 1) 23 EEA (SAHER)
7h ZAPEF 1 1.29x7.052 = 9.0970
) BEOIE 1 136x7.052 = 95907
2)6-3-1
2) AAFF(H63])) (FAFH 24 2
7h BE53 1 0.10.x7.052 = 0.71 A
) BEOIR 1 002¢7.052 = 0.14
3 FPER R
D AR A =] 3% 48
H-7-2 EzEdH
L A 5] (5,000%5,000%400)
1) a8 E BA(AEFEE) 1 5000x5000x400=10(m")
2) ANME(EZENT 40kg) : 36(ke)x(m)+40(ke)=86.5(3F)
3) R (AAD : 828(ke)x10(m")=8280(ke)
4) A2H2Bmolah) : 1,011(ke)x10(m’)=8280(ke)
5 FAAFAR63])) : ((5,000+5,000)x2)x400=8.0(m’)
2. =%-H)
)6-1-2
B E °
H-7-2-1 7]1 1 v | D 2 (IERD)
- 7h AR EZ 1 1.20x10 = 12,9
) BEQAR 1 1.36x10 = 136
)6-3-1
2) A FA(E3)) (FAFH 84 2
7h @EEF 1 0.10x10 = 1.00 &A)
) BESIE 1 00110 = 020
)1-3-5
3 FTER
1) AsH : AH =89 3% &
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W3 T EFT3 1252 % b A E (4 A) H] L
H-7-3 M=
1. A 81 (H:3,500xW:2,100)
1) D8 F3(97x73x52x2.0¢) © 3(m)
2) ™ IHD5x50x150) : 4(m’)
3) D8 F370(97x73x52) : 1(EA)
4) I-Bolt/Nut(®8x90) : 4(EA)
5) w14 34 Wl = (260x30%2.0t) : (EA)
6) I-Bolt/Nut(®8x25) : 16(EA)
7) °37}-Bolt/Nut(®9x70) : 4(EA)
8) A7}H(140x140%4.0t) : 1(EA)
9) %‘%(i%% 1%): (Fds + FS-ZHJE_‘_) 38-3-1
O FA556[27], FABFTARH ] 24 % 00]=27]7]
O 98
(1+8)%5.6-071 £ /hrl0.0654(2 244 2.4 21)=0.04571 £ /] (0211-0018)
o e : 247](Eol o)
(1+8)x5.6=0.7[ ¢ /hr]x0.24=0.168[ £ /hr]
x0.0654( 2 222 2 A1 7H)=0.0109[ ¢ /m’]
H-7-3-1 RRUES B | 2 18K 2847 A)8-4-2
(A7FF 23 #)=0.222[hr/ 74 7H Az el
(ARg A
3. w3y 7)8-4-2
1) 5dAHE 1 0194 Az
2) HEQIH 1 0.04 3)8-1-3
=z

(1+ 8(ARD) A AR >FA A V/hr]x0.222(hr/ 73 = [QV/747H

4. 71AER
ARG LR - AU x £R x 107
) 714 (A7) -EFo] ©)0.18m) x 2,279 x 107

3 FTER

D AR AH =) 3% 4

)8-3-1
[00] =871 7]
(0211-0018)

A7) (Efolof)

)1-3-5

ot
N,

1. A &1 (H:2,000xW:2,100)

1) D& F5(97x73x52x2.0t) : 7(m)

2) BE Z#9(47x23%1.6t) : 18.3(m)
3) w5 FH(D5x50x150) : 4(m?)

4) D FFR(97x73x52) : 2(EA)

5 &A47] : 4EA)

6) H1H(D18x600x100) : 1(EA)

7) B3 (d19) 1 5(EA)

8) Blg&Ege] 1 1(EA)

9) AFZFH(65x100%3.2t) © 1(EA)

10) <3 7}-Bolt/Nut(®9x70) : 8(EA)

11) 3 7FH140x140x4.0t) : 1(EA)

12) A3 1 %) @ (95 + ZA8)
O FA=5H6[2], AR FARH Y 24 %
O Fd=

(1+8)x5.6=0.7[ ¢ /hr]x0.0654( =24 8 A1 7H)=0.0457[ ¢ /m’]

O #A% -
(1+8)x5.6=0.7[ £ /hr]x0.24=0.163[ ¢ /hr]
x0.0654(= 2 4= 8. A1 7H=0.0109[ £ /m’]

=47](ERol o)

+)8-3-1
[00]EZ7] A
(0211-0018)

,3’77
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i ) ' M
33 TEF A @49 4 b A F (d A H 3
2. 18X 287k )8-4-2
(NZF 2 #)=0.222[hr/ 73 7H] Az LERAA
(dAgAF
3. w5 71)8-4-2
1 5¥eE 1 019 2z}
2) BB 1 0034 )8-1-3
P 239 : AL kB S 5
(1+ 8RB oAl *FA A Whr]x0.222[hr/ 78 7H = [31/787H
R
H7 32 e A
= |\
4, N1 AER 3)8-3-1
N NAER - AH7HE x £8 x 107 [00]E 271 7]
) 744 (A7) -EFo] ©]0.18m') x 2,279 x 107 (0211-0018)
=217](Eke]o})
3. TTER H)1-3-5
D Az:H] Ay =59 3% A8
1. A 5491 (400x500%500)
1) 22YE B(AFTEE) 1 400x500x500=0.1(m’)
2) AHE(FENE 40kg) 1 36(ke)x0.1(m")+40(kg)=0.365(3F)
3) R (AIAD © 828(ke)x0.1(m')=82.8(ke)
4) 272(25meol8h) : 1,011(ke)x0.1(m')=101.1(ke)
5) FAAFHEZE63]) : 400x500x500=0.1(m’)
2. =5
)6-1-2
H-7-3-3 G EENMES m D) 2o e (FgErd)
7 23LEF  1.29%01 = 0.129
W) HEOE : 1.36x0.1 = 0.136
F)6-3-1
(ELJ,]_HJ-X] S| K] g_l
2) FAAFHEIR63) Gkl
7h GEEF : 010x0.1 = 0.01
W) HEQIE : 0.01x0.1 = 0.002
3 TTER I
D AEH A4 =Fue 3% 44
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ﬁ
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Ms | FFFE | @9 g b A (4 A) Hl 3

H-8 | 37 & Hu$7]

H-8-1 B 31}7]
1. Az 2)2-1-8-1
B 3} 7] ,‘ 1 HIr)(d=) (7))
e 91%) M|y )
1) REQN 1032
1 Az Al )8-2-3
QA+ & ek [m/hr]) = w=4H7]
(3600 x q(H L) x k(HAAF) x {(A4g4AF)
x E(AYES)) + Cm(13] #olF 9] AI7H%)
(3600 x 0.18 x 09 x 0.7142 x 055) + 15 = 1527 [m’/hr]
2. FH2QAZE )8-1-3
md FEA - 1+Q(AIZE A=)
1+15.27(A 7V 2 2)=0.0654(hr/m’]
3. A &N )84
D AH(HE 1 %) (A8 « ZA47) A
O FA556[2], FABFTAFH ] 24 % (0211-0018)
(1+8)x5.6=0.7[ £ /nr]x0.0654(F 2 2= 2 A1 7H=0.0457[ £ /m’] =217 (o] o)
O FA= :
(1+8)x5.6=0.7[ £ /hr]x0.24=0.168[ ¢ /hr]
x0.0654(Z 24 2. A1 7H=0.0109[ £ /m’]
E{1}7]
1A
H-8-1-2 =271 0.18m’ m’ PR 8138
(Efele]) T e AT
A7) 1) 2FY 0 A7 ALAAL %5

NAER )8-3-1
VG 7IAER — FubE x £8 x 107 [00] =714
A7} A (F2F7]-EFo] ©]0.18m') x 2,279 x 107 (0211-0018)

Z217](Eo]ol)

D ZRI7HE - 24h7] (8] o)0.18m’

2) AARIAFE-C/L(FIHIFER 1/1.40) : 07142 )1-3-7
AR A 5

3) HAAF()-EEE 1 09 ¥)8-2-3

4) A ESE) AL LE) AT : 056(E 100570 | EH7] 1237

5) 13] At EAIZHCm)-41 37 90[*=190(0.12~0.4m’) : 15
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s TEFT3 =9 g 7 A EF (4 A H 1
1 A 2 = )8-2-3
QNZTE A4 [m'/hr]) = =217]
(3600 x q(HZLH) x k(HAAF) x {(A4g4tAF)
x E(FY9ES) + Cm(13] AolFo A7HX)
(3600 x 06 x 09 x 0.7142 x 055) + 18 = 42.42 [m'/hr]
2. FAAX~QAT )8-1-3
Mg FAA - 1+Q(AIZF A )
1+42.42(MN7v3 24 8)=0.0236hr/m’]
3. A&EA +)8-4
D) BA(2fsE 1 %) : (FI8 + A7) 70
O FA=:116[ 2], FASFATH ] 24 % (0211-0060)
O 95 : =217 (o] o)
(1+8)x11.6=1.45[ ¢ /hr]x0.0236(Z 2 2~ 2. X 71)=0.0342[ ¢ /m']
O #HA= :
(1+8)x11.6=1.45[ # /hr]x0.24=0.348[ ¢ /hr]
x0.0236( =2+ 2 2 A1 7H)=0.0082[ £ /m']
B3]
1)
H-8-1-3 =217] 06m m
(E}o]oq) 4, =5 &)8-1-3¢7kd 4=
71 A7 1) 29 2487 AAAL %5
(1+ AN >xAA A G>FAA G = A/hr
5 NNAEER +)8-3-1
NG ZAEE - FH7HE x £8 x 107 [00] &2 71 A
74 (22 7]-Eo]010.6m') x 2,279 x 107 (0211-0060)
=217 (Efo] o)
1) A¥7H4 o 2217](EFo]91)0.6m
2) AA AT (D-C/L(FlAAHED 1/1.40) © 0.7142 )1-3-7
A A gk A 4=
3) MAAFK -EEE : 09 5)8-2-3
=417] 12,38
4) AA 5 & E)-AAFEH () ZAEA A E - 0568 971(0.057)
5) 13] Ale]EAIZHCm)-A 32t 90[=]90(0.6~0.8m’) © 18
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ﬁ
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33 TET3E &4 g 7 A EF (49 A H 3
H-8-2 v $-7]
1. A8n] £)2-1-8-1
= vl $-71 3 1) Ful$-7)(a13) (1 7))
H-8-2-1 (1e) m 0, et
1) BEdH 101
1. A1 Fd & +)8-2-3
QN A4 [m'/hr]) = =471
(3600 x q(HZALH) x k(HAAF) x {(A4g4tAF)
x EFYES)) + Cm(13] Aol&9 A7HZ)
(3600 x 0.18 x 0.9 x 0.7142 x 0.6) + 15 = 1666 [m'/hr]
2. HH§-7] A8 A7t +)8-4
m =FFA7 — 1:QXF A H) AR
1+16.66(A1 7+ 2+ #)=0.06[hr/m'] (0211-0018)
=2}7](Efo] o)
3. A&EA )8-1-3¢WHE
D AH (I3 1 %) - (FA8 + ZAR) %5
O FAz560¢], FAE: -Zr?iﬁﬂlﬂ 24 %
(1+8)x5.6=0.7[ £ /nr]x0.06(F 22 & A1 7H=0.042[ £ /m']
O #A= :
(1+8)x5.6=0.7[ ¢ /hr]x0.24=0.168] ¢ /hr]
= ] 7] x0.06( 222 2. A171)=0.01[ £ /m’]
1)
H-8-2-2 =217] 0.18m' m'
(E}o]oq)
71 A 749
4, =5 +)8-3-1
1) 29 247 AL [00]EZ 7))
(1+ 8(AIZM) A AT > FAAS = A/hr (0211-0018)
=2}7](Efo] o)
5. 71 A€
/\]ﬂﬂ NAEE — ZAH7EE x £8 x 10-7
1] 742 (F417]-EFo] 010.18m’) x 2,279 x 107
A7 L ZA7](Ee]¢1)0.18m )1-3-7
A A gk A =
2) AAEAAG()-C/L(FGo) A HER 1/1.40) : 0.7142 5)8-2-3
Z2H7] 1,2,33
3) MAAFK -EEE : 09
4) A4 a2 &(E)-A< *OLHKEE, AHAA901Z 1 06
5) 18] Aol EAIZHCm)-A 3 2= 90[=190(0.12~0.4m’) : 15
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.I‘f\\\, s
H s TEFT3 =9 g 7 A EF (4 A H o
1 Az 2l e +)8-2-3
QAIZHE A4 [m/hr]) = =417
(3600 x q(HAE) x k(HAASG) x f(A 2 E2kA5)
x E(AYES)) + Cm(13] #olF 9] A7HZ)
(3600 x 0.6 x 09 x 07142 x 06) + 18 = 46.28 [m'/hr]
| ul]9-7] 2 2.7 )8-1-3
m'd FHA - 1:QAIZE 2 =)
1+46.28(X 7+ 2+ #)=0.022[hr/m’]
3. A &N )84
D) Ae(H3 1 %) (A8 + ZA4=) A7)
O FA=116[ 2], FAZFTARN ] 24 % (0211-0060)
0 =dz : =271 (ol o])
(1+8)x11.6=1.45[ £ /hr]x0.022(Z 2 2= 2 A 7H)=0.0319[ £ /m’]
O #A= :
(1+8)x11.6=1.45[ # /hr]x0.24=0.348[ ¢ /hr]
x0.022(=2 2 4= 2 A 7H)=0.0077[ £ /m’]
= W$-7]
(7140
&2 2471 06w M| g e FB-1-3 0%
(telel) 1) 229 AAALAA %5
71 (1+ BAIR <A AR FAAF = hr
AL )8-3-1
Az 1AL — 7k x £8 x 107 [00]E371 A
A7} 4 (F417]-Bko] ©]0.6m) x 2,279 x 107 (0211-0060)
=2}7](Efo] o)
1) Au7rE o @27 (Eko]o))0.6m
) AA A0 -C/L(Fo] M AFEA 1/1.40) : 0.7142 )1-3-7
A A Ak A 5
3) HAAFK-EEE 1 09 )8-2-3
=27] 1,2,3%
4) AAa&E) A4 (RE) A2HAE 1 06
5) 13] Ale]EAIZHCm)-A 3] 2= 90[%=]90(0.6~0.8m’) © 18
KRQP E-04080
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H s TEFT3 =9 G 7t A F (d A H 1
H-8-3 2] 7]
1 N7 Al F)8-2-11
QAZYE ZA % [m'/hr]) = 2
(AN FERHA M DNAAZPE B4 31573 /hr])
*H(H 7 m]) <f(A 2 S A ) B 2 8))
“P(FETE3)
(0.0924x36,000x0.15%0.7142x0.5)+57=3.125[ m’/hr]
2. A8
m'E =27 — 1+Q
1+3.125(A7H3 2+ #)=0.320[ m'/hr]
3. A= )8-4-2
D g (AR + ZAR) (1015 71 A
O FA=:07[ 2], AAZFARA Y] 10 % (1630-0080)
Fdg &
(1+8)x0.7=0.0875[ £ /hr]=x0.320( T} 2= 8. A 7H=0.028[ ¢ ]
O #A= :
(1+8)x0.7=0.0875[ £ /hr]x0.1=0.0087[ ¢ /hr]
x0.320(F 2 2= 8. A 7H=0.0028[ ¢ ]
t}2] 7] 4, w5 F)8-1-3&ukd
H-8-3-1 17 m’ D 23 0 AW AR &5
-#™ 80 kg 1+ 8(A A A xFA AL = /hr
3. 7AIER F)8-3-2
NV 7IAER — FurbE x £8 x 107 (10154 71 A
0714 (2 ™80kg) x 3,708 x 10-7 (1630-0080)
2
1 81714 2vi80kg
2) AR EAAGE)-C/L(FolAAHER 1/1.40) : 0.7142 )1-3-7
A gaA
3) T HE A (A) : 0.0924 )8-2-11
4) BFA81%(N) ¢ 36,000 e
5 BAFAM) : 015
6) AYEE(E) : 05
7 FHUGH3GFP) 57
H-8-4 ZEA g
1. A s &)2-1-8-1
1D &A= QE=E M)
H-8-4-1 A A g mo | 2 =T

,43,
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H 3 T34

av

7B S oA

H 1

H-9 AR =

H-9-1 C—-Channel

C-Channel
(52x34x550)

H-9-1-1

1. A 84|
1) C-Channel(52x34x550) @ 271}
2) T-BOLT(M20) : 27}
3) UE(M20) : 471
4) St AHE) - 270
2. Almn &5
1) T-BOLT(M20) : 5%
2) YE(M20) : 5%
3) X)) 5%
3. |
1) 5¥5(C-Channel’d A])
0.057x1(/N 22)x6(F A=) = 0.342(2)
2) REAHF(C-Channel’d )
0.001x1(7) 2~)x6(°Y A=) = 0.006(<1)
3) 5EAT(E % AXxA)
0.0 X1(7H/\)X6(°”71 = 0.06(31)
4) BEJFE Z 9 B‘J)
0.001x1(7R&)x6(F A=) = 0.006(<1)
4 STER

D AgwTulel 3% 88

E) 19
) 1-9
E)1-9

) 7-1

) 7-1

) 1-22

C-Channel
(52x34x1,050)

H-9-1-2

1. A &H]

1) C-Channel(52x34x1,050) : 27}
2) T-BOLT(M20) : 27}

3) UE(M20) : 470

4) kM (AHAE) @ 278

2. Azv &5

1) T-BOLT(M20) : 5%
2) UEM20) : 5%
3) M (A7) 1 5%

3. 5]
1) 52 5(C-Channeld Z])
0.057x1(7]22)x10(Y A 5 = 0570(2))
2) HFQAE(C-Channeld X])
0.001x1(7N4)x10( YA =) = 0.010(9)
3) SEAT(E 2 fXxA)
0.01x1(7] 22)x10(F A=) = 0.10(3D)
4) BEAF0E B A 2H)

0.001x1(7]4)x10(Y 71 5= F) = 0.010(2])
4 FTER

1) AA-w=Tn o] 395 A&

) 71

) 1-22
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g 7t A & (@ A

H 1

H-9-1-3

C-Channel
(52x34x1,550)

1 A=

1) C-Channel(52x34x1,550) : 27}

2) T-BOLT(M20) : 37}

3) YE(M20) : 371

4) M (AHAE) ¢ 374

2. Agvy &5

1) T-BOLT(MZ20) : 5%

2) YE(M20) : 5%

3) X)) ¢ 5%

3. )

1) 5¥215(C-Channel’d )
0.057x1 (7] 22)x14(B A5 =) = 0.798(]))

2) BEAF(C-Channel’d #])
0.001x1(7§2)x14(B A 5=) = 0.014(]D)

3) SEAF(E B AA2A)
0.01x1(7H &) x14(F A=) = 0.14(%)

4) BEJF(NE 2 HXx24)
0.001x1(7h 4)=x14(F A=) = 0.014(%D)

4. STER

1) Ao 3% A&

) 7-1

) 1-22

H-9-1-4

C-Channel
(52x34x%2,050)

1) C-Channel(52x34x2,050) : 27l
2) T-BOLT(M20) : 37}

3) UEMM20) : 674

4) kM (AAE) 30

2. Al=n &5

1) T-BOLT(M20) : 5%

2) HEM20) : 5%

3) M (AAE) 1 5%

3. i)
1) 5¥AF(C-Channel’d %))
0.057x1(7N 22)x18(F A FF) = 1.026(<1)
2) REA(C-Channeld %])
0.001x1(7N 22)x18(F A 5 =F)
3) SHEAF(E B AA2A)
0.01x1(7R &) x18(F A=) = 0.18(%1)
4) BEAR0d 9§11 24)

0.001x1(7]2)x18(B A=) = 0.018(21)

0.018(<1)

4 FTER

D &g werulel 3% A8

) 1-9
E) 19
) 1-9

) 71

) 7-1

) 1-22
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g 7t A & (@ A

H 1

C-Channel
(52x34x%2,550)

H-9-1-5

1. A=

1) C-Channel(52x34x2,550) : 27}
2) T-BOLT(M20) : 47}

3) HE(M20) : 874

4) A E) @ 490

2. Agy 5

1) T-BOLT(M20) : 5%

2) YE(M20) : 5%

3) M (A ) & 5%

1) EE15(C-Channeld #])

0.057x11(7) 22)x22(B A=) = 1.254(%]1)
2) HEIH(C-Channels %])

0.001x11(7) 42)x22(B A =F) = 0.022(3])
3) SEAF(E B AA2A)

0.01x11(7]&)x22(F A7) = 0.22(21)
4) BEAR0E 2 91X 2H)

0.001x11(7] 22)x22(F A7) = 0.022(31)
4 FTER

1) A Hw=u]e] 3% A&

) 7-1

) 1-22

C-Channel
(52x34x3,050)

H-9-1-6

1) C-Channel(52x34x3,050) : 27}
2) T-BOLT(M20) : 47}

3) UEMM20) : 874

4) M (AAE) 4

2. Al=n &5

1) T-BOLT(M20) : 5%

2) HEM20) : 5%

3) M (AAE) 1 5%

3. i)

1) 5¥AF(C-Channel’d #])
0.0572x 1(7 42)x26( B A ==

2) BFIH(C-Channel A #])
0.001x21 (71 42)x26( 8 A )

3) SHEAF(E B AA2A)
0.012x1(7] 22)=26(B A=) = 0.26(%0)

4) BEAR0d 9§11 24)
0.0012x1(7] 22)=x26(F A7) = 0.026(31)

I
=
%
&)
=~
=

I
o
(e}
N}
o
=

by
ki

4. &7

D &g werulel 3% A8

~

) 1-9
E) 19
) 1-9

) 71

) 7-1

) 1-22

KRQP E-04080
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ﬁ
IR (5
NATIONAL RAILWAY

g 7t A & (@ A

H 1

H-9-1-7

C-Channel
(52x34x3,550)

1 A=

1) C-Channel(52x34x3550) : 27}

2) T-BOLT(M20) : 571

3) YE(M20) : 1074

4) M (AHAE) 2 570

2. Agvy &5

1) T-BOLT(MZ20) : 5%

2) YE(M20) : 5%

3) X)) ¢ 5%

3. =50

1) 5¥AF(C-Channel’d )
0.057x1(7§22)x30(F A5 =) = 1.710(<1)

2) BEAF(C-Channel’d A])
0.001x1 (7] 22)x30(°8 7 5= =)

3) SEAF(E B AA2A)
0.01x1(7] 42)x30(F A=) = 0.30(81)

4) BEJAR0d 9 fx24)
0.001x1(7h 42)=x30(F A=) = 0.030(D)

4 FTER

1) Ao 3% A&

0.030(1)

) 7-1

) 1-22

H-9-1-8

C-Channel
(52x34x4,050)

1) C-Channel(52x34x4,050) : 27}

2) T-BOLT(M20) : 574

3) YEM20) : 1071

4) S (A2E) 574

2. Alsm] &F

1) T-BOLT(M20) : 5%

2) UE(M20) : 5%

3) AR - 5%

3. =5

1) §¥AH(C-Channel’d #])
0.057x1 (70 22)x34(B A 5 )

2) BFQE(C-Channel’d A])
0.001x1(7] 22)x34(Y A 5==F) = 0.034(<1)

3) BRI B AA=A)
0.01x1(7] 22)x34(F A=) = 0.34(3D)

4) BER0d 9 $x2A)

0.001x1(7H242)x34(d 715+ 7F) = 0.034(31)

1.938(¢1)

4 FTER

D AR wmH ) 3% A&

E) 1-9
)19
E) 19

) 7-1

H) 71

) 1-22

,4’77
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